[OCT_2.104-68 1K02)
R
< LNN
§ 76
= 4154 20407 95+0,015
23 95
i 30+0,2 @ o QN
«&;
9 #25+0,1 40
=
1] = /
L] 3
N N
] 954
o\ B
-~ AN o
(=)
S by & o V7
¥ 2,3
g % R1 p7_
o
© y 41
<
S #20 52
30+ 210
N 2 omb.
g 7601 30 5 0
< ‘ I 1 4
E O 95
= 1 Buicoma/znyduHa 3nemeHmob 40,1 MM
T
3 2 Ocmpble KpoMKU npumynumb
B
g
S
£ /lum, Macca | Macwm.
= Vol Jucrl_Woaocyr Y riogn_LramalKoHKypCHOR 3000HUE (pe3sepHuie
Pazpad. |Xaudapoh WA ~_~_
- [lgab, padomy Ho cmakax ¢ “NY
:m T.KOHMP. /lucm | Jucmob 1
<
M. H.xoHmp. 95x95x30
Zmb,

Konupoban

Dopmam A3




